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Problema	
  1.	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  

(a) Para	
  𝑘   = 3𝐸𝐼 5𝐿!,	
  determine	
  a	
  carga	
  𝑃!	
  que	
  leva	
  ao	
  início	
  do	
  escoamento	
  na	
  estrutura.	
  (3,0	
  pontos).	
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Diagrama	
  de	
  momento	
  fletor:	
  

	
  

𝑃 = 𝑃!     ⇒   max 𝑀(𝑥) =   𝑀!	
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(b) Considere	
  agora	
  𝑘 → 0.	
  Determine	
  a	
  carga	
  de	
  colapso	
  plástico	
  𝑃!	
  (2,0	
  pontos).	
  

	
  
O	
  Colapso	
  plástico	
  ocorre	
  quando	
  𝑀! = 𝑀! = 𝑀!.	
  Portanto,	
  como	
  𝑃𝐿 3 = 𝑀! + 𝑀!,	
  obtém-­‐se:	
  

𝑃! = 6𝑀! 𝐿 = 3𝑌𝑎! 2𝐿	
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Problema	
  2.	
  (2,0	
  pontos)	
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Derivando-­‐se	
  a	
  expressão	
  acima,	
  observa-­‐se	
  que	
  𝑑𝑣 𝑑𝑥 = 0	
  em	
  𝑥 = 𝐿 2,	
  logo	
  

max 𝑣(𝑥) = 𝑣 𝐿 2 =
𝜅𝐿!
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Problema	
  3.	
  (3,0	
  pontos)	
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A	
  equação	
  acima	
  pode	
  ser	
  resolvida	
  de	
  forma	
  iterativa:	
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Para	
  os	
  dados	
  do	
  problema:	
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Portanto,	
  considerando	
  uma	
  tolerância	
  de	
  5,00×10!!  m!!	
  (três	
  algarismos	
  significativos):	
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Já	
  na	
  primeira	
  iteração	
  a	
  solução	
  converge	
  para	
  𝜅! = 4,42  m!!,	
  correspondendo	
  a	
  𝛿! = 𝜅!𝐿! 8 = 112  mm.	
  

O	
  valor	
  de	
  𝑀!	
  é	
  calculado	
  abaixo:	
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A	
  distribuição	
  da	
  tensão	
  residual	
  é	
  dada	
  pela	
  equação:	
  

𝜎!!! 𝑦 =

−𝑆! − 𝑦𝑀! 𝐼  ,           − ℎ 2 < 𝑦 < −𝑟!
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onde	
  𝑟! = ℎ𝜅! 2𝜅! = 1,36  mm.	
  	
  

Portanto,	
  com	
  𝑦	
  em	
  mm	
  e	
  𝜎!!! 	
  em	
  MPa:	
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1200 − 489𝑦         1,36 < 𝑦 < 3,5  mm
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